SH6F4A11H

SHOEENERBEEREZT—HREFHREIEBL
X EBTABYE
TESHEREE BY M)
1 F =a FE0E = N N
afe | EOD | BN e T o | aw | s | FEEmE] TenE | e AL "%
1| E5E Em | BEAL 1062|551 ‘AR 3.93 2,390|%9104 B |56 ES B THE |9INEMH
1| &% mEm | KAWL 1062|114 BAR 4.43 2,5311%104 B |56 ES B THE |[HDINEMH
1| E5E L | BEAL 1062(41 ‘AR 5.83 2924159104 B |56 ES5 B THE |9INEMH
1| &% mEm | KAWL 1062|422 BAR 6.72 3,769|%104 B |56 ES5 B THE |[HDINEMH
1| E5E mEm | =il 1063|1 ‘AR 5.61 3,342|%9104 B |56 ES5 B THE |9INEMH
=% mES |l 1063]1° A 197 283710105 B |26 &5 ATA BB
1| E5E g™ |FRos Al 1063 % ‘AR 6.04 3,4321%9104 B |56 ES5 B THE |9INEMH
=% FET |Ral 1064] h 547 172400105 B |56 &5 ATA BB
1| &8 OE R (4L 1066]1% ‘AR 3.34 1964|910+ B [ 6E5 A Ta |HINEH
=% RTE | EEL 551103 h 684 3796|1105 B |26 %5 ATA BB
1| &8 ANFET [/NEE L 65(121 ‘AR 9.18 6,793|%9104 B |5M6ES B THE |9INEM
1| &% ATSRETI2 S+ HRES 1w ZAEHD 16.02 6,408|%8 4B |SfM6ET7TBTH |BIT&EH
=% AP EEN| B RS 1% mEm | 22.10 5810118 7 A |5M6&E7ATA |EFEh
=% FEE |ZREEs o mE || 6467 25868108 B |aF654T BT |EHEH
1|&5% Erfl |EEEEs 2| TZAEHD 41.17 16,4688 # B |SM6&ET7 A TH |BEIT&EMH
=% FEE |ZAEEs A o | 1521 6083118 7 A |oM6&E7ATA |BABEH
=% N |EEnEs e maEm | 21,97 5788118 7 A |oM6&E7ATA |EFEh
=t 246.50 110978
(1) AEBLIL. AEBAIBUGEINEELCH Y. ZET5BEr D) £7.

RMEFEICOVWTIE, —BREMFERELDIHBEPHY ET,




